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                             INTEGRATED CIRCUITS TECHNOLOGY 




   EXERCISE # 4

1.1) A 1-micron technology MOSFET having W/L = 10. 
1.2) Find its channel resistance if its sheet resistance when ON is R( = 10 k(.

1.3)  Estimate the channel resistivity if its depth is 10 nm.
1.4)  Calculate the gate cap if the gate oxide thickness is 30 nm ((r = 4 for SiO2).
1.5)  Draw the AA and Poly masks indicating L and W.
1.6)  Redraw the layout if the transistor is split into two identical ones in parallel.
2. Assume that the CLM (channel length modulation) parameter ( is proportional to 1/L, show that the drain dynamic conductance in saturation is proportional to 1/L2.

3. Extract the nMOS transistor-level view (schematic diagram) from the following physical-level view (layout diagram).

                                                                                         VDD

                                                                    A

                                                                     B

                                                                 VSS

                                                                                         VDD

�





�











